Platformm Development - Variability Realization
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m Conditional Compilation (Build Time Binding)
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void operation() {
=zInterface=

InterfaceA ;ifdef F1
/* code for ImpF1*/
#endif

operation()

#ifdef F2

/* code for ImpF2*/
#endif

}

Design patterns

s 4dH A T UdA ORI IHE (Observer, Template-hethod, Strategy %}E =5
HolghH 01§ &5t ME S A2 PHHEd S FHE=E "l 2, m2lo|E g HH _E._:’—‘.
SHAE FHOHE 7|2 (22=) 22| A2 E o2t B ] 71H-E S ﬂHI EREE

s Component Factory Pattern (Dynamic Binding)
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InterfaceA getlnstance() {
String impMame = System.getProperty("Implementation.name™;
InterfaceA compA = (InterfaceA)Class forName(impMame).newlnstance();
return compé;

}
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Components & Services
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